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S SXEB
mE: HAS FOIME
o9l HAS FOISE

0! (SHol: ®e)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

||| Osasg ngie 1 g2 2,000

NasSsdeordxs 25,000 25,000 0
=S 25,000

NASEXNE 25,000 25,000 0
= 25,000

Mol +t= 25,000 25,000 0
< 25,000

201 et23| 3,360 3,360 0
= 3,360

01 At2t2ltl 3,000 3,000 0
OMai= &0 2 SAIFHAIE 2| 3,000
= 3,000

02 35244l 360 360 0
ONjcis=At2e| & 22| SRS 360
< 360

301 LEtE NS 17,640 14,140 3,500
== 17,640

02 ARSI XSG (FHAAHS, NLWE) 17,640 14,140 3,500
OMdi-=2=238 S 7¢ 17,640
= 17,640

302 01 Mot 2 &= 4,000 4,000 0
= 4,000

02 2t s HESE2a=3 4,000 4,000 0
OXfolillioh Aatzel S K& 4,000
[ 4,000

NS AR S RIALS 976,601 923,019 53,582
= 683,621
s 146,490
Al 146,490

MSISXAMHIASASH 976,601 923,019 53,582
[ 683,621
= 146,490
Al 146,490

K SHASI MBIASE XA (OFAREE 22X ALY 976,601 923,019 53,582
[ 683,621
= 146,490
Al 146,490

307 el2tol & 976,601 923,019 53,582
= 683,621
& 146,490
Al 146,490

05 2ItRIE = 976,601 923,019 53,582
OJtARHE SEXE AL 976,601




S SXEBD

2 NS A S XA

&2 ARISAMHIASASH

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 683,621
=S 146,490
Al 146,490
NasSsSdald 13,473,869 12,684,300 789,569
= 11,787,165
= 44,068
= 426,331
Al 1,216,305
22 13,420,769 12,631,200 789,569
= 11,787,165
= 44,068
< 426,331
Al 1,163,205
a2z, XNAxiade o 29TE0H2( 10,341,470 9,660, 146 675,324
Ared)
= 9,307,323
== 413,659
Al 620,488
201 2= 7,000 7,000 0
= 6,300
= 280
Al 420
01 AFS2t2ltl 7,000 7,000 0
OXEZ2AHFE 2| 7,000
= 6.300
= 280
Al 420
202 04| 9,000 6,000 3,000
= 8,100
= 360
Al 540
01 =LHNHI 9,000 6,000 3,000
OXtgdig 2te| L= 9,000
= 8,100
= 360
Al 540
301 EtE2 N = 1,200,000 1,200,000 0
= 1,080,000
= 48,000
Al 72,000
01 Al EEABZ2(2DEEMR) 1,200,000 1,200,000 0
OAl 2& T2 At 1,200,000
= 1,080,000




M SXE MY

Mu: JASZMETE
Sl Ha=g (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 48,000
Al 72,000
307 elztol & 9,125,470 8,453,146 672,324
= 8,212,923
< 365,019
Al 547,528
05 2IIRIE =3 9,125,470 8,453,146 672,324
OXEZZAY BItI& 9,125,470
= 8,212,923
== 365,019
Al 547,528
KNS XELE SAHL SE+E 38,040 39,240 21,200
= 11,412
Al 26,628
301 EtE N = 38,040 0 38,040
= 11,412
Al 26,628
4Bt 23 38,040 0 38,040
OXNSA2HE SAHA S84 38,040
=S 11,412
Al 26,628
ANe22, NEGEdy 2 2A9MadH2 (X9 976,154 929,336 46,818
HE2Y)
= 683,306
Al 292,848
307 elztol & 976,154 929,336 46,818
= 683,306
Al 292,848
10 Al SXAZEHE 22X 976,154 929,336 46,818
OXS gy =24 976,154
= 683,306
Al 292,848
ZZ2sEHUsrsie 513 1,99, 151 1,935,064 61,087
= 1,796,536
Al 199,615
307 glztol & 1,99, 151 1,935,064 61,087
= 1,796,536
Al 199,615
05 212t S 1,99, 151 1,935,064 61,087
OFHUHLMZAHZHIR 0I5 =) 1,626,856
= 1,464,170
Al 162,686
O3 LM =H %2 72,622




2A:

Mu: JASZMETE
Sl Ha=g (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 65,360
Al 7,262
O3l MEH = 148,667
= 133,800
Al 14,867
OFE M=%t 53,692
= 48,323
Al 5,369
OFHIWI =S 29,027
= 26,124
Al 2,903
ougslss%d 26,723
= 24,051
Al 2,672
O3 YII=SE! 7,982
= 7,184
Al 798
OgII=Sa2 30,582
= 27,524
Al 3,058
N2, XNARSHE L ZOTELESY (2 AR 62,954 61,414 1,540
zel2g)
[ 44,068
Al 18,886
307 212+01& 62,954 61,414 1,540
= 44,068
Al 18,886
10 Al SXAEEHE2EHI2x 62,954 61,414 1,540
Ot Ard 2l 24 62,954
= 44,068
Al 18,886
KNS XtgdE wsHl XA 6,000 0 6,000
s 1,260
Al 4,740
307 @I2t01 & 6,000 0 6,000
[ 1,260
Al 4,740
11 AMEISXAEEES 6,000 0 6.000
OX<STtEHE w=sHl X 6,000
= 1,260
Al 4,740
NASE A 28 53,100 53,100
MHAAHSUALBES = XHA 50,400 50,400




AR INESESI
M HASESMEBN
e MAss Nd =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 50,400 50,400
02 A2 EH 2GS (FHAAHS, XNLWE) 50,400 50,400
ozz=2gs N 4,200,000~ 12 50,400
a3 2 (X)) 2,700 2,700 0
201 Zet=3hl 2,700 2,700
02 S3=gHl 2,700 2,700
Oglls sitZelE2 8 |24 2,200
OX&ll= M x24I, S 500
HWeegs(SNdx) 6,683,688 6.49%,102 187,586
WA XIE 6,683,688 6,496,102 187,586
WEHHXIE 6,683,688 6,496,102 187,586
701 JIEtRI HSHES 6,683,688 6,496,102 187,586
01 JIEt=I AN ES 6,683,688 6,49%,102 187,586
OAZSHAMY H=E= 6,683,688
HY2AIHI(SXH2D) 582,868 580,373 2,495
= 334,284
== 30,731
Al 217,853
el E3H 536,862 533,166 3,69%6
= 334,284
=S 30,731
Al 171,847
SEAHIZIRIAL 1Al X (e1E23]) 312,552 304,884 7,668
[ 156,276
Al 156,276
101 e124d| 312,552 304,884 7,668
= 186,276
Al 156,276
08 SRA(RINAHL) 222+ 312,552 304,884 7,668
OSE At 22l AL 2124H1(98) 312,552
= 156,276
Al 156,276
SYAFLHIOIN 29 4,800 9,600 24,800
[ 2,400
Al 2,400
101 ©1AH| 4,800 9,600 4,800
[ 2,400
Al 2,400
03 SR (RINHA) 222+ 4,800 9,600 24,800
O &+MHBI0IM 29 =% 4,800
s 2,400
Al 2,400




SN ST
M HYRAZH(SXFHL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Atdl2te] MM HE (2SS 022l AL 219,510 218,682 828
= 175,608
== 30,731
Al 13,171
101 e124d| 219,510 218,682 828
= 175,608
=S 30,731
Al 13,171
03 SR (RIH )22 UHE 4 161,510 218,682 AB7, 172
O2z30&e|AH4E) 161,510
[ 129,208
= 22,612
Al 9,690
04 JIZtN2Z2 XS 2 58,000 0 58,000
OJIZH22RE E4(2Y) 58,000
[ 46,400
= 8,119
Al 3,481
Jl=2dsl 46,006 47,207 1,201
JI23Hl 46,006 47,207 1,201
201 2= 34,036 37,817 A3,781
01 At22t2l] 34,036 37,817 23,781
OSAEA 7Y 3,564
OIglH EU - =8 WHI(ger, Zai) 9,240
OJIEH AR 2teld] 21,232
203 HR=AH] 9,270 9,390 2120
01 D[22 HIR S| 2,970 2,970 0
O=lus=% 2,970
M A2 ARFEI 6,300 6.420 A120
ORNSgERF=AHI 525,000 122 6,300
405 AHaHE = 2,700 2,700
01 AL =S F = 2,700 2,700
OZRH 7 (2UH Z2&) 2,700




